

Generalized Parametric Exponential Entropy Measure of degree α and β on Fuzzy Set**Bhagwan Dass¹, Vijay Prakash Tomar², Krishan Kumar³**¹Department of Mathematics, Govt. College Jind- 126102 (India)^{2, 3} Department of Mathematics, Deenbandhu Chhotu Ram University of Science and Technology, Murthal-131039 (India)**Article History:** Received: 11 January 2021; Revised: 12 February 2021; Accepted: 27 March 2021; Published online: 10 May 2021**Abstract:** There exist many well known parametric and non-parametric measures with their properties and application on the basis of literature survey of fuzzy information measure. For characterization and quantification of fuzzy uncertainty and vagueness, fuzzy entropy measure is used very frequently. For this we propose a new parametric exponential entropy measure on fuzzy set. After showing the validity of proposed entropy measure some properties are also given.**Keyword:** Fuzzy set, entropy measure, parametric measure, exponential measure, uncertainty.**1. Introduction:**

Fuzzy uncertainty and mathematical ambiguity was major problem for mathematician in the starting of 19th century. Shannon [1] introduced the entropy to measure the uncertainty of a probability distribution. The information contained in any experiment having probability distribution $P = (p_1, p_2, p_3, \dots, p_n)$ of discrete random variable X is given by

$$H(P) = - \sum_{i=1}^n p_i \log p_i$$

which is the well known Shannon [1] entropy. Fuzzy entropy is used to express the mathematical value of the fuzziness of fuzzy set. The amount of probabilistic uncertainty removed in an experiment is called measure of information and the amount of measure of vagueness and ambiguity of uncertainty is measure of fuzziness. The degree of uncertainty is usually used in different areas e.g. image processing, pattern recognition, statistical mechanics, finance, decision making, clustering etc. The basic subject of information theory, entropy is firstly used by Zadeh [2]. The degree of fuzziness in fuzzy set is used as rule of logic in examination of system containing ambiguity and vagueness. Shannon's [1] entropy give direction to De Luca and Termini [3] to introduced a framework of axioms of fuzzy entropy measure. Using these axioms many researcher develop new entropy measure on fuzzy set. De Luca and Termini [3] changed the Shannon's variable into membership degree of element and proposed fuzzy entropy measure. Kaufmann [4] proposed a fuzzy entropy measure by a metric distance between its membership function and the characteristic function of its nearest crisp set. Bhandari and Pal [5] presented two fuzzy entropy measures, out of which one is exponential entropy. Kapur [6], Verma and Sharma [7], Hooda [8] and Fan and Ma [9] defined some new fuzzy entropy measure corresponding to probabilistic measure. Tomar and Anshu [10-13] proposed some entropy measure on fuzzy set. Using the concept of above defined entropies we propose an exponential entropy measure on fuzzy set. Some properties are given to show that defined measure is valid.

2. Preliminaries

In this section we present some basic concepts of fuzzy set and fuzzy entropy.

Definition 1.

Let $X = (x_1, x_2, \dots, x_n)$ be a discrete universe of discourse. A fuzzy set A is given as

$$A = \{ \langle x_i, \mu_A(x_i) \rangle / x_i \in X \}$$

where, $\mu_A(x_i) : X \rightarrow [0,1]$ is the membership function of A . The membership value $\mu_A(x_i)$ describes the degree of belongingness of $x_i \in X$.

Definition 2.

Let K be a real function defined on family of fuzzy set $(FS(X))$ such that $K : FS(X) \rightarrow R^+$ and if K satisfies following properties then it is called entropy measure on fuzzy set

- (B₁) $K(A) = 0$ if A is a crisp set
- (B₂) $K(A)$ assumes a unique maximum iff $\mu_A(x_i) = 0.5$
- (B₃) $K(A^*) \leq K(A)$, where A^* is the sharpened version of A
- (B₄) $K(A) = K(A^c)$

De Luca and Termini [3] proposed an entropy measure on fuzzy set using the concept of same degree of fuzziness of $\mu_A(x_i)$ and $1 - \mu_A(x_i)$ as

$$H(A) = - \sum_{i=1}^n [\mu_A(x_i) \log \mu_A(x_i) + (1 - \mu_A(x_i)) \log (1 - \mu_A(x_i))] \tag{1}$$

Later on Bhandari and Pal [5] introduced two entropy measures on fuzzy set as

$$H_\alpha(A) = \frac{1}{1 - \alpha} \sum_{i=1}^n [\log \mu_A^\alpha(x_i) + (1 - \mu_A(x_i))^\alpha] \tag{2}$$

$$H_e(A) = \frac{1}{n(\sqrt{e} - 1)} \sum_{i=1}^n [\mu_A(x_i) e^{1 - \mu_A(x_i)} + (1 - \mu_A(x_i)) e^{\mu_A(x_i)} - 1] \tag{3}$$

After this Kapur [6] defined entropy measure on fuzzy set as

$$H_{k\alpha}(A) = \frac{1}{1-\alpha} \sum_{i=1}^n [\mu_A^\alpha(x_i) + (1-\mu_A(x_i))^\alpha - 1]$$

$$H_{\alpha,\beta}(A) = \frac{1}{\alpha + \beta - 2} \sum_{i=1}^n [\mu_A^\alpha(x_i) + (1-\mu_A(x_i))^\alpha + \mu_A^\beta(x_i) + (1-\mu_A(x_i))^\beta - 2]$$

$$H_\alpha^\beta(A) = \frac{1}{\beta - \alpha} \sum_{i=1}^n [\mu_A^\alpha(x_i) + (1-\mu_A(x_i))^\alpha - \mu_A^\beta(x_i) - (1-\mu_A(x_i))^\beta]$$

Later on exponential entropy for fuzzy set is also proposed by Verma and Sharma [7] as

$$H_e(A) = \frac{1}{n(e^{1-0.5^\alpha} - 1)} \sum_{i=1}^n [\mu_A(x_i)e^{1-\mu_A^\alpha(x_i)} + (1-\mu_A(x_i))e^{1-(1-\mu_A(x_i))^\alpha} - 1] \tag{4}$$

3. New proposed exponential entropy measure

On the survey of above concepts we propose exponential fuzzy entropy measure as

$$B_e(A) = \frac{1}{n(e^{1-0.5^{-\alpha}} - e^{1-0.5^{-\beta}})} \sum_{i=1}^n \left[\begin{matrix} \mu_A(x_i)e^{1-\mu_A^\alpha(x_i)} + (1-\mu_A(x_i))e^{1-(1-\mu_A(x_i))^\alpha} \\ - \mu_A(x_i)e^{1-\mu_A^\beta(x_i)} - (1-\mu_A(x_i))e^{1-(1-\mu_A(x_i))^\beta} \end{matrix} \right] \alpha > 0, \beta > 0 \tag{5}$$

Theorem1: The measure defines $B_e(A)$ is a valid entropy measure on fuzzy set A .

Proof. We have to satisfy four properties B_1 to B_4 for validity of measure $B_e(A)$. **B_1 (Sharpness):** To prove $B_e(A) = 0$ iff $\mu_A(x_i) = 0$ or $\mu_A(x_i) = 1$

First we suppose that $B_e(A) = 0$

$$\Rightarrow \frac{1}{ne^{2^{-\alpha}} - e^{2^{-\beta}}} \sum_{i=1}^n \left[\begin{matrix} \mu_A(x_i)e^{1-\mu_A^\alpha(x_i)} + (1-\mu_A(x_i))e^{1-(1-\mu_A(x_i))^\alpha} \\ - \mu_A(x_i)e^{1-\mu_A^\beta(x_i)} - (1-\mu_A(x_i))e^{1-(1-\mu_A(x_i))^\beta} \end{matrix} \right] = 0$$

$$\Rightarrow \mu_A(x_i)e^{1-\mu_A^\alpha(x_i)} + (1-\mu_A(x_i))e^{1-(1-\mu_A(x_i))^\alpha} = \mu_A(x_i)e^{1-\mu_A^\beta(x_i)} + (1-\mu_A(x_i))e^{1-(1-\mu_A(x_i))^\beta}$$

This is true if $\mu_A(x_i) = 0$ or $\mu_A(x_i) = 1$.

Conversely: Now we assume that $\mu_A(x_i) = 0$ or $\mu_A(x_i) = 1$

$$\Rightarrow \mu_A(x_i)e^{1-\mu_A^\alpha(x_i)} + (1-\mu_A(x_i))e^{1-(1-\mu_A(x_i))^\alpha} = 0$$

$$\Rightarrow \mu_A(x_i)e^{1-\mu_A^\beta(x_i)} + (1-\mu_A(x_i))e^{1-(1-\mu_A(x_i))^\beta} = 0$$

$$\Rightarrow B_e(A) = 0.$$

Hence we can say that $B_e(A) = 0$ iff $\mu_A(x_i) = 0$ or $\mu_A(x_i) = 1$.

B_2 (Maximality): To prove $B_e(A)$ is maximum at $\mu_A(x_i) = 0.5$

Now

$$\frac{\partial B_e(A)}{\partial \mu_A(x_i)} = \frac{1}{ne^{(e^{2-\alpha} - e^{2-\beta})}} \sum_{i=1}^n \begin{bmatrix} e^{1-\mu_A^\alpha(x_i)} - \alpha \mu_A^\alpha(x_i) e^{1-\mu_A^\alpha(x_i)} + \alpha (1-\mu_A(x_i))^\alpha e^{1-(1-\mu_A(x_i))^\alpha} \\ - e^{1-(1-\mu_A(x_i))^\alpha} - e^{1-\mu_A^\beta(x_i)} + \beta \mu_A^\beta(x_i) e^{1-\mu_A^\beta(x_i)} \\ - \beta (1-\mu_A(x_i))^\beta e^{1-(1-\mu_A(x_i))^\beta} + e^{1-(1-\mu_A(x_i))^\beta} \end{bmatrix}$$

Case – 1: Let $0 \leq \mu_A(x_i) < 0.5$ then, we have $\frac{\partial B_e(A)}{\partial \mu_A(x_i)} > 0$ for all $0 < \alpha$ and $0 < \beta$

this give that $B_e(A)$ is increasing function.

Case – 2: Let $0.5 < \mu_A(x_i) \leq 1$ then, we have $\frac{\partial B_e(A)}{\partial \mu_A(x_i)} < 0$ for all $0 < \alpha$ and $0 < \beta$

this give that $B_e(A)$ is decreasing function.

Case - 3: Let $\mu_A(x_i) = 0.5$ then, we have $\frac{\partial B_e(A)}{\partial \mu_A(x_i)} = 0$ for all $0 < \alpha$ and $0 < \beta$

This clearly shows that $B_e(A)$ is a concave function as shown in graph1.1 which has a global maximum at $\mu_A(x_i) = 0.5$. Hence $B_e(A)$ is maximum iff A is the most fuzzy set. **B_3 (Resolution):** To prove $B_e(A^*) \leq B_e(A)$ where A^* is sharpened version of A . On the basis of previous axioms we know that $B_e(A)$ is increasing function for $0 \leq \mu_A(x_i) < 0.5$ and decreasing function for $0.5 < \mu_A(x_i) \leq 1$. So using above concept, we have

$$\mu_{A^*}(x_i) \leq \mu_A(x_i) \Rightarrow B_e(A^*) \leq B_e(A) \text{ and}$$

$$\mu_{A^*}(x_i) \geq \mu_A(x_i) \Rightarrow B_e(A^*) \leq B_e(A)$$

$$\Rightarrow B_e(A^*) \leq B_e(A) \text{ in both cases.}$$

B_4 (Symmetry): Let A^C is the compliment of A so we can take $\mu_{A^C}(x_i) = 1 - \mu_A(x_i)$ due to membership function. Then clearly $\Rightarrow B_e(A^C) = B_e(A)$.

This shows that $B_e(A)$ is valid entropy measure on fuzzy set.

Limiting and Particular Cases:

It can be seen, from the proposed measure of order α and β that some existing measure can deduce from it as follows:

- (I) If $\beta \rightarrow 0$ then our proposed entropy measure reduces to Verma and Sharma [7] exponential entropy measure.
- (II) If $\alpha \rightarrow 1, \beta \rightarrow 0$ then our proposed entropy measure reduces to Bhandari and Pal [5] exponential entropy measure.
- (III) If $\alpha \rightarrow 0, \beta \rightarrow 0$ then our proposed entropy measure reduces to De Luca and Termini [3] logarithmic entropy measure.

4. Some properties of entropy measure

Definition 4.1: Assume that the family of all fuzzy set of universe X , is denote by $FS(X)$ and $P, Q, R \in FS(X)$ is given

$$P = [\prec x, \mu_P(x) \succ / x \in X]$$

$$Q = [\prec x, \mu_Q(x) \succ / x \in X]$$

$$R = [\prec x, \mu_R(x) \succ / x \in X]$$

then some set operation can be defined as follows:

- a. $P \cup Q = [\prec x, \max(\mu_P(x), \mu_Q(x)) \succ / x \in X]$
- b. $P \cap Q = [\prec x, \min(\mu_P(x), \mu_Q(x)) \succ / x \in X]$
- c. $(P \cup Q) \cup R = [\prec x, \max\{\max(\mu_P(x), \mu_Q(x)), \mu_R(x)\} \succ / x \in X]$
- d. $(P \cap Q) \cap R = [\prec x, \min\{\min(\mu_P(x), \mu_Q(x)), \mu_R(x)\} \succ / x \in X]$
- e. $P^C = [\prec x, \mu_{P^C}(x) = 1 - \mu_P(x) \succ / x \in X]$

The exponential entropy measure has some important properties as follows:

Theorem 2. For fuzzy set $P, Q \in FS(X)$ prove that

- (I) $B_e(P \cup Q) + B_e(P \cap Q) = B_e(P) + B_e(Q)$
- (II) $B_e((P \cup Q) \cup R) = B_e(P \cup (Q \cup R))$

$$(III) \quad B_e((P \cap Q) \cap R) = B_e(P \cap (Q \cap R))$$

$$(IV) \quad B_e(P) = B_e(P \cap P^c) = B_e(P \cup P^c) = B_e(P^c)$$

$$(V) \quad B_e(P \cap Q) = B_e(P^c \cup Q^c)^c$$

$$(VI) \quad B_e(P \cup Q) = B_e(P^c \cap Q^c)^c$$

Proof: We suppose that

$$X_\sigma = [x_i / x_i \in X, \mu_P(x_i) \geq \mu_Q(x_i) \geq \mu_R(x_i)]$$

$$X_\theta = [x_i / x_i \in X, \mu_P(x_i) < \mu_Q(x_i) < \mu_R(x_i)]$$

where $\mu_P(x_i), \mu_Q(x_i)$ be the fuzzy membership functions of P and Q respectively.

$$(I) \text{ We know that } B_e(P \cup Q) = \frac{1}{n(e^{1-0.5^{-\alpha}} - e^{1-0.5^{-\beta}})} \sum_{i=1}^n \begin{bmatrix} \mu_{P \cup Q}(x_i) e^{1-\mu_{P \cup Q}^\alpha(x_i)} \\ + (1 - \mu_{P \cup Q}(x_i)) e^{1-(1-\mu_{P \cup Q}(x_i))^\alpha} \\ - \mu_{P \cup Q}(x_i) e^{1-\mu_{P \cup Q}^\beta(x_i)} \\ - (1 - \mu_{P \cup Q}(x_i)) e^{1-(1-\mu_{P \cup Q}(x_i))^\beta} \end{bmatrix}$$

$$\Rightarrow B_e(P \cup Q) = \frac{1}{n(e^{1-0.5^{-\alpha}} - e^{1-0.5^{-\beta}})} \left[\sum_{x_i=X_\sigma} \begin{bmatrix} \mu_P(x_i) e^{1-\mu_P^\alpha(x_i)} + (1 - \mu_P(x_i)) e^{1-(1-\mu_P(x_i))^\alpha} \\ - \mu_P(x_i) e^{1-\mu_P^\beta(x_i)} - (1 - \mu_P(x_i)) e^{1-(1-\mu_P(x_i))^\beta} \end{bmatrix} + \sum_{x_i=X_\theta} \begin{bmatrix} \mu_Q(x_i) e^{1-\mu_Q^\alpha(x_i)} + (1 - \mu_Q(x_i)) e^{1-(1-\mu_Q(x_i))^\alpha} \\ - \mu_Q(x_i) e^{1-\mu_Q^\beta(x_i)} - (1 - \mu_Q(x_i)) e^{1-(1-\mu_Q(x_i))^\beta} \end{bmatrix} \right] \tag{6}$$

$$\Rightarrow B_e(P \cap Q) = \frac{1}{n(e^{1-0.5^{-\alpha}} - e^{1-0.5^{-\beta}})} \left[\sum_{x_i=X_\sigma} \begin{bmatrix} \mu_Q(x_i) e^{1-\mu_Q^\alpha(x_i)} + (1 - \mu_Q(x_i)) e^{1-(1-\mu_Q(x_i))^\alpha} \\ - \mu_Q(x_i) e^{1-\mu_Q^\beta(x_i)} - (1 - \mu_Q(x_i)) e^{1-(1-\mu_Q(x_i))^\beta} \end{bmatrix} + \sum_{x_i=X_\theta} \begin{bmatrix} \mu_P(x_i) e^{1-\mu_P^\alpha(x_i)} + (1 - \mu_P(x_i)) e^{1-(1-\mu_P(x_i))^\alpha} \\ - \mu_P(x_i) e^{1-\mu_P^\beta(x_i)} - (1 - \mu_P(x_i)) e^{1-(1-\mu_P(x_i))^\beta} \end{bmatrix} \right] \tag{7}$$

Adding (6) & (7) we obtain

$$\Rightarrow B_e(P \cup Q) + B_e(P \cap Q) = \frac{1}{n(e^{1-0.5^{-\alpha}} - e^{1-0.5^{-\beta}})} \left[\begin{aligned} & \sum_{x_i=X_\sigma} \left[\mu_P(x_i)e^{1-\mu_P^\alpha(x_i)} + (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\alpha} \right] \\ & - \sum_{x_i=X_\sigma} \left[\mu_P(x_i)e^{1-\mu_P^\beta(x_i)} + (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\beta} \right] \\ & + \sum_{x_i=X_\theta} \left[\mu_P(x_i)e^{1-\mu_P^\alpha(x_i)} + (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\alpha} \right] \\ & - \sum_{x_i=X_\theta} \left[\mu_P(x_i)e^{1-\mu_P^\beta(x_i)} + (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\beta} \right] \\ & + \sum_{x_i=X_\sigma} \left[\mu_Q(x_i)e^{1-\mu_Q^\alpha(x_i)} + (1-\mu_Q(x_i))e^{1-(1-\mu_Q(x_i))^\alpha} \right] \\ & - \sum_{x_i=X_\sigma} \left[\mu_Q(x_i)e^{1-\mu_Q^\beta(x_i)} + (1-\mu_Q(x_i))e^{1-(1-\mu_Q(x_i))^\beta} \right] \\ & + \sum_{x_i=X_\theta} \left[\mu_Q(x_i)e^{1-\mu_Q^\alpha(x_i)} + (1-\mu_Q(x_i))e^{1-(1-\mu_Q(x_i))^\alpha} \right] \\ & - \sum_{x_i=X_\theta} \left[\mu_Q(x_i)e^{1-\mu_Q^\beta(x_i)} + (1-\mu_Q(x_i))e^{1-(1-\mu_Q(x_i))^\beta} \right] \end{aligned} \right]$$

$$\Rightarrow B_e(P \cup Q) + B_e(P \cap Q) = B_e(P) + B_e(Q).$$

Hence first property is satisfied.

$$(II) B_e(P \cup Q) = \frac{1}{n(e^{1-0.5^{-\alpha}} - e^{1-0.5^{-\beta}})} \left[\begin{aligned} & \sum_{x_i=X_\sigma} \left[\mu_P(x_i)e^{1-\mu_P^\alpha(x_i)} + (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\alpha} \right] \\ & - \sum_{x_i=X_\sigma} \left[\mu_P(x_i)e^{1-\mu_P^\beta(x_i)} + (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\beta} \right] \\ & + \sum_{x_i=X_\theta} \left[\mu_Q(x_i)e^{1-\mu_Q^\alpha(x_i)} + (1-\mu_Q(x_i))e^{1-(1-\mu_Q(x_i))^\alpha} \right] \\ & - \sum_{x_i=X_\theta} \left[\mu_Q(x_i)e^{1-\mu_Q^\beta(x_i)} + (1-\mu_Q(x_i))e^{1-(1-\mu_Q(x_i))^\beta} \right] \end{aligned} \right]$$

$$B_e((P \cup Q) \cup R) = \frac{1}{n(e^{1-0.5^{-\alpha}} - e^{1-0.5^{-\beta}})} \left[\begin{aligned} & \sum_{x_i=X_\sigma} \left[\mu_P(x_i)e^{1-\mu_P^\alpha(x_i)} + (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\alpha} \right] \\ & - \sum_{x_i=X_\sigma} \left[\mu_P(x_i)e^{1-\mu_P^\beta(x_i)} + (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\beta} \right] \\ & + \sum_{x_i=X_\theta} \left[\mu_R(x_i)e^{1-\mu_R^\alpha(x_i)} + (1-\mu_R(x_i))e^{1-(1-\mu_R(x_i))^\alpha} \right] \\ & - \sum_{x_i=X_\theta} \left[\mu_R(x_i)e^{1-\mu_R^\beta(x_i)} + (1-\mu_R(x_i))e^{1-(1-\mu_R(x_i))^\beta} \right] \end{aligned} \right] \tag{8}$$

Now,

$$B_e(Q \cup R) = \frac{1}{n(e^{1-0.5^{-\alpha}} - e^{1-0.5^{-\beta}})} \left[\begin{aligned} & \sum_{x_i=X_\sigma} \left[\mu_Q(x_i)e^{1-\mu_Q^\alpha(x_i)} + (1-\mu_Q(x_i))e^{1-(1-\mu_Q(x_i))^\alpha} \right] \\ & - \sum_{x_i=X_\sigma} \left[\mu_Q(x_i)e^{1-\mu_Q^\beta(x_i)} + (1-\mu_Q(x_i))e^{1-(1-\mu_Q(x_i))^\beta} \right] \\ & + \sum_{x_i=X_\theta} \left[\mu_R(x_i)e^{1-\mu_R^\alpha(x_i)} + (1-\mu_R(x_i))e^{1-(1-\mu_R(x_i))^\alpha} \right] \\ & - \sum_{x_i=X_\theta} \left[\mu_R(x_i)e^{1-\mu_R^\beta(x_i)} + (1-\mu_R(x_i))e^{1-(1-\mu_R(x_i))^\beta} \right] \end{aligned} \right]$$

$$B_e(P \cup (Q \cup R)) = \frac{1}{n(e^{1-0.5^{-\alpha}} - e^{1-0.5^{-\beta}})} \left[\sum_{x_i=X_\sigma} \left[\mu_P(x_i)e^{1-\mu_P^\alpha(x_i)} + (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\alpha} \right] - \mu_P(x_i)e^{1-\mu_P^\beta(x_i)} - (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\beta} \right] + \sum_{x_i=X_\theta} \left[\mu_R(x_i)e^{1-\mu_R^\alpha(x_i)} + (1-\mu_R(x_i))e^{1-(1-\mu_R(x_i))^\alpha} \right] - \mu_R(x_i)e^{1-\mu_R^\beta(x_i)} - (1-\mu_R(x_i))e^{1-(1-\mu_R(x_i))^\beta} \right] \tag{9}$$

By equation (8) & (9) we can easily show that

$$B_e((P \cup Q) \cup R) = B_e(P \cup (Q \cup R)).$$

(III) Using above result we can easily show that

$$B_e((P \cap Q) \cap R) = B_e(P \cap (Q \cap R)).$$

(IV) We know that

$$B_e(P \cup P^C) = \frac{1}{n(e^{1-0.5^{-\alpha}} - e^{1-0.5^{-\beta}})} \left[\sum_{x_i=X_\sigma} \left[\mu_P(x_i)e^{1-\mu_P^\alpha(x_i)} + (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\alpha} \right] - \mu_P(x_i)e^{1-\mu_P^\beta(x_i)} - (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\beta} \right] + \sum_{x_i=X_\theta} \left[\mu_{P^C}(x_i)e^{1-\mu_{P^C}^\alpha(x_i)} + (1-\mu_{P^C}(x_i))e^{1-(1-\mu_{P^C}(x_i))^\alpha} \right] - \mu_{P^C}(x_i)e^{1-\mu_{P^C}^\beta(x_i)} - (1-\mu_{P^C}(x_i))e^{1-(1-\mu_{P^C}(x_i))^\beta} \right] \tag{10}$$

Or

$$B_e(P \cup P^C) = \frac{1}{n(e^{1-0.5^{-\alpha}} - e^{1-0.5^{-\beta}})} \left[\sum_{x_i=X_\sigma} \left[\mu_{P^C}(x_i)e^{1-\mu_{P^C}^\alpha(x_i)} + (1-\mu_{P^C}(x_i))e^{1-(1-\mu_{P^C}(x_i))^\alpha} \right] - \mu_{P^C}(x_i)e^{1-\mu_{P^C}^\beta(x_i)} - (1-\mu_{P^C}(x_i))e^{1-(1-\mu_{P^C}(x_i))^\beta} \right] + \sum_{x_i=X_\theta} \left[\mu_P(x_i)e^{1-\mu_P^\alpha(x_i)} + (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\alpha} \right] - \mu_P(x_i)e^{1-\mu_P^\beta(x_i)} - (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\beta} \right] \tag{11}$$

After solving both equation (10) & (11) we obtain same result as:

$$B_e(P) = B_e(P \cup P^C)$$

Using above result we can show that

$$B_e(P) = B_e(P \cap P^C) = B_e(P \cup P^C) = B_e(P^C)$$

(V) We know that

$$\begin{aligned}
 B_e(P^c \cup Q^c) &= \frac{1}{n(e^{1-0.5^{-\alpha}} - e^{1-0.5^{-\beta}})} \left[\sum_{x_i=X_\sigma} \left[\mu_{Q^c}(x_i)e^{1-\mu_{Q^c}(x_i)} + (1-\mu_{Q^c}(x_i))e^{1-(1-\mu_{Q^c}(x_i))^\alpha} \right] \right. \\
 &\quad \left. + \sum_{x_i=X_\theta} \left[\mu_{P^c}(x_i)e^{1-\mu_{P^c}(x_i)} + (1-\mu_{P^c}(x_i))e^{1-(1-\mu_{P^c}(x_i))^\beta} \right] \right] \\
 B_e(P^c \cup Q^c)^c &= \frac{1}{n(e^{1-0.5^{-\alpha}} - e^{1-0.5^{-\beta}})} \left[\sum_{x_i=X_\sigma} \left[\mu_Q(x_i)e^{1-\mu_Q(x_i)} + (1-\mu_Q(x_i))e^{1-(1-\mu_Q(x_i))^\alpha} \right] \right. \\
 &\quad \left. + \sum_{x_i=X_\theta} \left[\mu_P(x_i)e^{1-\mu_P(x_i)} + (1-\mu_P(x_i))e^{1-(1-\mu_P(x_i))^\beta} \right] \right] \\
 &= B_e(P \cap Q)
 \end{aligned}$$

Hence the result.

(VI) By above result clearly $B_e(P \cup Q) = B_e(P^c \cap Q^c)^c$.

5. Conclusion

In this article we introduce an exponential parametric entropy measure on fuzzy set. The proposed entropy measure is important and valid which reduce to the existing entropy measure after substituting the suitable value of parameters. Some interesting and important properties of these entropy measures have also been studied. Thus, we can say that the defined entropy measure is more flexible measure from the application point of view.

References

[1] C. E. Shannon “A Mathematical Theory of Communication” *The Bell System Technical Journal*, vol. 27, pp. 379-423, 1948.

[2] L.A. Zadeh, “Fuzzy Sets” *Information and Control*, vol. 8: pp. 338-353, 1965.

[3] A. De Luca and S. Termini “A definition of a Non-probabilistic Entropy in Setting of Fuzzy Sets” *Information and Control*, vol.20, pp. 301-312, 1972.

[4] Kaufmann A.(1980), “Fuzzy subsets: Fundamental Theoretical Elements”, 3, Academic Press, New York.

[5] Bhandari D. and Pal N.R. (1993), “Some new information measures for fuzzy sets”, *Information Sciences*, 67(3), 209- 228.

[6] Kapur J. N. (1997), “Measures of fuzzy information”, Mathematical Sciences Trust Society, New Delhi.

[7] R. Verma and B. D. Sharma, “On Generalized Exponential Fuzzy Entropy” *World Academy of Science, Engineering and Technology*, 60: 1402-1405, 2011.

[8] D. S. Hooda, *On generalized measures of fuzzy entropy*, *Mathematica Slovaca*, 54(3), 315-325, 2004

-
- [9] J. L. Fan and Y. L. Ma, *Some new fuzzy entropy formulas*, *Fuzzy sets and Systems*, 128(2), 277-284, 2002.
- [10] Tomar V.P. and Ohlan A.(2014a), "Two new parametric generalized norm fuzzy information measures", *International Journal of Computer Applications* 93(13), 22-27.
- [11] Tomar V.P. and Ohlan A.(2014b), "Sequence of fuzzy divergence measures and inequalities", *AMO - Advanced Modeling and Optimization*, 16(2), 439-452.
- [12] Tomar V.P. and Ohlan A.(2014c), "Sequence of inequalities among fuzzy mean difference divergence measures and their applications", *SpringerPlus*, 3, 623, 1-20.
- [13] Tomar V.P. and Ohlan A.(2014d), "New parametric generalized exponential fuzzy divergence measure," *Journal of Uncertainty Analysis and Applications*, 2(1), 1-14.